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Question Number : 1 Question Id : 41652915580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let R be a relation defined on ZxZ by
@, bR c.d) & a~-d=b-c, whereZ is
the set of all integers, then K is .

Options :



reflexive but neither symmelric nor

41657aEnapy (ransitive.

symmelnc but neither reflexaive nor

41652060903, TAnsRive.

transitive butl neither rellexive nor

41652950924 Symmetnc.

symmelric and transitive but not

1652080925, Teflexive,
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Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 41652915581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let z{= =1) be any complex number such

that |z| = 1. Then the imaginary part of

2l —3z) .

—— g

21+ 3)

(Here i =arg z)

Options :



g1 .
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41652960926
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Correct Marks : 4 Wrong Marks : 1
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Options :
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The set of all real values of « for which the

i
equation, |,1_-1 2|-|x 1| =~ 2a has real
solutions for x, 1s :

Options :



(=, 0w [2, =)

41652960930
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Options :
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Correct Marks : 4 Wrong Marks : 1
et A be a 2x2 matrix such that
A2+ A4+1=0, where 1= Ir Then

gadﬂql A s equal to ;

Options :

1'!-
416829680934, -

EL
41652960335 -

16
41652960936 °

41652980337
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Correct Marks : 4 Wrong Marks : 1
H A UE 2x2 Wrge, Tamw fem
Al+A+l=0 wafs =1, & @

adil{l - A || T

Options :
5
AleE2Pe0234 °
EL
41652960335 °
111
41652860338 °
39
41652960337 °

Question Number : 5 Question Id : 41652915584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the system of linear equations
x+dy—-3z=2
x4+Ty—dr=n
-y +5z=4
has infinitely many solutions, then the

ordered pair (o, B) cannol take the value :

Options :
-
41652960338 (4 —<)
2, —4
41652960939, ' )
2 -3
416529650940, 3)
(-3,3)
41652950941

Question Number : 5 Question Id : 41652915584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



r+4y—3z=2
X+/y—4z=a
x—5y+5z=4
% 0 B E, ol S g (o, ) P E R
F | JH T #
Options :
41652960338 4 -2)
E
41652960939 (2 —4)
1852960940 (& —8)
(—3,3)

41et29c094]
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Correct Marks : 4 Wrong Marks : 1
Let A be the set of all 3-digit natural
numbers and B={r« A: H.CF. (x, 15)=1}.
Then the number of elements m Bis :

Options :

20
416529680942 42

3ol
41652960945

)
41652960244 S

240
41652960945
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A A, TR F =l A6 o SEnE
T E TN B=xe A:HCF.(x. 15)=1] &
B ¥ 9994 i HEn ¥

Options :

20
41652980942 42



3ol
41652960945

)
41652960244 S

240
41652960945

Question Number : 7 Question Id : 41652915586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
If ris the remainder obtained on dividing,
(98)° by 12, then the coetficient of 1 in the

. |
Emnmmlcxpa.mmn of | 1+ = | is :
| |
Options :
55
G |
41652960948 =
g1
b ]
41652960347 sy
: 102
41682068034E.
: 0
41682860245
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Correct Marks : 4 Wrong Marks : 1
In an mcreasing geomeltric senes, the sum
of the first and the sixth term is 66 and the
product of the second and the fifth terms is
128. Then the sum of the first & lerms of
this series 15 ;

Options :

4152960050

416529503251

)
41652050952, 126

128
41652960855

Question Number : 8 Question Id : 41652915587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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o FHEE T A9 H, e o a2 @ W
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128 & T 9%1 F e 6 TR O AT §
Options :

415 960050

416529503251

)
41652050952, 126

128
41652960855
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Correct Marks : 4 Wrong Marks : 1

The sum of the infinile series

6 10 . 14

d
e 1L, afe SE et |
.1‘ 1.: ;1' 14 P— | B
Options :

dlE5 960254 4



dles2380355

&

4123603256

TR

q1652980357F
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. 1
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FII .-q: ?"ll _'!._I BN EEd & el
= AMTHEA A R
Options :
41652960954 4
T o
41652960958
3
416529650956
L3
41652960957, <
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T+ 6= sin(x 1) 3
lim - - is equal
T— (X TS |
g}
Options
5
41652550958, O
1

4165206049589 6

W | ka3



| Lh

16529603961

Question Number : 10 Question Id : 41652915589 Question Type
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Correct Marks : 4 Wrong Marks : 1

Jx 4+ = sinlx 3 3 4
o Pl ol . Pl IS . HIHET E -
x—3 (x Vjoos{x 5
Options :
5
41652960958, O
1

41652960959 b

|k

41652960960,

| Lh

41652960961

Question Number : 11 Question Id : 41652915590 Question Type :
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Correct Marks : 4 Wrong Marks : 1

Let fbe a continuous function defined by

I

asin2y — bcosy

= Ty
T b
ke ; -
Ln |
—
flx) = { 4 , X=
2b cosx T
_ , Y€ —
3 z
, a 1
2

Then the value of a+ b 1s :

Options :

dlE52900962

dlEs 900963

i

41eb2as025q
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MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
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dlE5 29600962

1652380265
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Let y be an implicit function of x defined

Y 2
1 T4 1 2
by s 12y =10,
1 2 x+y
- dy ;
fyh=—1,then — atx=0is:
: da
Options :
1
_I,
416529603668 ~
1
2

41652960367



5
41652960968, 2

4
41652060969, 2
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Correct Marks : 4 Wrong Marks : 1
HIET y, x ®1 AR (implicit) &4

=1 wam & witwrim 2
It + vy 2
. -3
1 x+ y ] + 12y =0,
| 1 2 |

dy

g y0)= -1, Tx=0T = FAAE
Options :
1
:
416529609668 <
1
-
41852060967 2 2
5
41652960968, 2
4
41852860969, 2
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Correct Marks : 4 Wrong Marks : 1
et f: R-{0}] — R be defined by

d=alog |a +bxr* +22
Bes

If x= - 1land x=1 are the critical poinis of
fix), then :
Options :

a1esze80ar0. / (WH(-1)=0

41e829c037] P i,



both =1 and x= -1 are local
4165zag0ary.  Tnima of flx)
r=lisalocal mnimaandx= -1

a local maxima of f{x)
416523603973,
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Correct Marks : 4 Wrong Marks : 1
AR - (0] — R, =t wen & ofvafis 7
fix)=alog, || +ba? 422,
AR x= - 19N x=1,f(x) ¥ T FifF Tg ¥,
e

Options :

aigsass0are. / WHf(-1)=0

41852950971 Jr”f“ ,f”{ 1)y—4
x=17 x= -1, =4 fix) F T=HE

41852950972 fﬂﬁ%l

fix) ¥ x =1, TF g feem T

9 1= - 1, TF ™HE 3= fa= )
41652950975 b 5 €

Question Number : 14 Question Id : 41652915593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
Let f: [0, 5] —R be a continuous function
such that |f(x)| = 3 for all x ¢ [0, 5] and

1
J
J‘ﬂﬂd’f = 3. Then the value of L'r[l:ldt
il i
can be:
Options :

41652360374 4

41652360975

41652960976



12
41652960877

Question Number : 14 Question Id : 41652915593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
HE [ [0, 5] — R T Han e 59 THE 7
qYl x e [0, 5] & oUW |fix)] =3 @

5 3
jrﬂﬂdl = 3 i.ﬁlj}lﬂd' fr= | 1 R
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I F TEA R

Options :

dles 900074
165230275
41652960976

41652960977

Question Number : 15 Question Id : 41652915594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

SECK

dr is Equal to :
1..|Ilﬁi.ﬂ.1 <008 :'.1.

(where C is a constant of mtegration)

Options :
1 > 3
tanx)? + —(tanx)? + C
41652860978 ]
S T
(tanx)= + —{tanx}= + C
41652960979 7
1 2
Zianx)® + —(tanx)? + C
416529680980 <
1 “ 3
2tanx)? - =({tanx)2 + C
41652950981 +



Question Number : 15 Question Id : 41652915594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

r SECY

, —dx T 7
J‘-.l'.‘-in.t (08 X

(=8 C UF e AT

Options :
1 2 3
tanx)? + =(tanx)? + C
41652960978 =
X B
(tanx)= + —(tanx}= + C
41852960979 4
1 , 5
2ianx)® + —(tanx) + C
41852580980 &
b 2 .
itanx)- - —(@anx)= + C
416529609381 =

Question Number : 16 Question Id : 41652915595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

_ rT
[he value of }. T g
g -I- r e

Options :

i e | = -l:-t :r:l
41652960982

41652980285

41852050984 <

41e5296028%5
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Correct Marks : 4 Wrong Marks : 1
o= 4

b | ™
| ——dr mm ¥
2l + e



Options :

416852960382

415296039835

41652960984

415 9603985

Question Number : 17 Question Id : 41652915596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) above the x-axis
bounded by the parabola, v - y*— 1 =0and
the linex—y-3=0is:

Options :

(5 e ]

41652260586

10
41652960987

d1&52960358

41652960389

Question Number : 17 Question Id : 41652915596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
TR, x- - l=0 M T -y -3=09
o1 B0 3N y-319 F FW T G F GAFA
(o e H) 2
Options :
8
41652980586

10
41652960987 2



41652360988,

41652960989

Question Number : 18 Question Id : 41652915597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
Let the tangent drawn at any point P(x, y)
on a curve intersect the x and yaxes at two
distinct points A and B respectively. If
AP : PB = 5:1, and the curve passes
through the point (2, 2) then an equation of
the curve is ;

Options :

41652960330
41et29c03%]
41et29c0352

41652960893

Question Number : 18 Question Id : 41652915597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

T U W W TR T Pla, y) T T T
IS o A - w3 e faege
ATNBR T &1 AcAP:PB=5:1%
AR =% T (2,2) B o 9 R, @ aw oW
o HHTE

Options :

41652950990

-
41652850991 Iyi' =
41652850852

41652960893
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Correct Marks : 4 Wrong Marks : 1

Let A(1, 3) and C(5, 1) be two apposite
vertices of a rectangle. The other two
vertices Bla, b) and D{c, d) lie on the line
y=2x + k for some k. Then the value of

(a+b)(c+d)is:

Options :
41652960994
41652050995 10
24
41652960936
41652060997
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A A(L 3) 79 C(5, 1) TF SR ¥ T
¥ ¥ | THF 3 =1 99 Ba, b) 79 Dic, d)
R kFm my=n+kmfom® @
fatb)yfctd)FAHE:

Options :
41652960994
41652080995 10
24
41652960936
41652060997

Question Number : 20 Question Id : 41652915599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let the abscissae of two points A and Bon
acircle be the roots of 12 + 21— 4=0and the
ordinates of A and B be the roots of
y=+ 4y~ 16=0. If AB is a diameter of this
circle, then the radius of this circle is :

Options :



41652060998, °

41652960939 °

j e
416525961000 246

4152851001 210

Question Number : 20 Question Id : 41652915599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

W U R W A fagadi A AW B ¥ S
(abscissae), 1 + 2x — 4 = () 3 5 # 741 A 570
B % HIfZ (ordinates), ¥ + 4y - 16=0 F 7&
#1 4% AB T@ 99 ®1 UF =@ ¥, W THH
o= =

Options :

41552960958, 5

41652960939 o

j e
416525961000 2v6

4le52961001 2410

Question Number : 21 Question Id : 41652915600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let P be the point on the parabola _y:=3.t

such that OF makes an ;mgle of % with the

r-axis, where O is the origin. A normal 1s
drawn to the parabola at P intersecting, the
axis of the parabola at Q. 1f5is the focus of
the parabola, then 50 is equal to :

Options :

39

41652961002, 2



39

41652961003 4

dliebh2aal00

41852961005 4
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Correct Marks : 4 Wrong Marks : 1
A O Wertag 8, P Wawd, yi=3x W UH
frg & iR OP a1 x5 ¥ it o1 i -

%1 T T 38 faw 1w wtn T afie,
T 379 W Q W FET ¢ 9fE wEem =

MIFES E SO T E
Options :

39

7
41652961002, =

39
21652961003

Q
212261004

41

4
41652596 1005

Question Number : 22 Question Id : 41652915601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
Let the ellipse x2 + 16y = 16 be inscribed in
a rectangle whose sides are parallel to the
coordinate axes. If the rectangle is inscribed
in another ellipse that passes through the
point (16, 0), then the equation of the outer
ellipse is

Options :

R T T
41652051008 T t20y==16



| A

=+ 248y =16°

4le52961007

2 T
a1e62081008 ¥ 24yt=16°

2oy r .
a1652061000. ¥ T D2Y=16
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UF EHEA, 12+ 16yt =16, TF 5 faaw
AT FEwF A4 F W E, F S e
T ® A% A, UF SR Sega F e
T T E | e g arag faw (16, 0) A

Options :

I,
41652061006 T t20yT=167

||

=+ 248y =16°

4le52961007

2 T
41662061008 ¥ 240yi=16°

2y r .
a1652061000. ¥ T DAY =16

Question Number : 23 Question Id : 41652915602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let the planes y-2y+kz=0 and
x+ 3¢~ z=0 be perpendicular. Then the
plane through the point (2, ~2, - 2) and
perpendicular to the given planes also
passes through the point :
Options :

41652061010, W2 8)

a1662061011 (03, —8)

41652961612.[ L0, =7)

(1.0,7)
41652961013
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Correct Marks : 4 Wrong Marks : 1

AT 990 x - 2y + kz=0T W x + Sy - =z=0
WEE e F W oA waem W A
(2, — 2, — 2) | B w & e fou Ty aeee
¥ v #, Fet 6 @ e fag 1 v
%7

Options :

41652081010, W2 8)

41652961011 (%, —8)

filE-E-E":?ElDlE[ 1,0, =7)

(1,0,7
41652961013
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Correct Marks : 4 Wrong Marks : 1

xr=JZm If o=
i the two lines ——— = 2 —=——
2m 4+ 3 Em £
X . I Fl 2m
and - Bl T . Y p.]r.::lld
m 2 1 | Am

for sonmwe m « R, then the distance between

them is -
Options :
41652951014 VIV

11852581015, 2V

41852981016, VY

Y
41852981017 ¥
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Ifs fFH m e R F fAu, 5 mm

x— 2m ¥ 2 — 4
: : A=l
Zm+ 35 sm Fi

q 2 W T 2m Sy i e
I

m 2

Fam A
Options :

41652951014, ¥
diesoagiols, 2V5

41652961018 ¥

34
41652961017 V°

Question Number : 25 Question Id : 41652915604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If three wvectors Vy =i + j+ k

Vi =1f + Bj 1;,-md1_';—,|fare

coplanar, and V; and Vy; are

perpendicular, then the vector V; = V,

L
Options :

r 4+ 7+ 2k
41652951018

i e -
41652361019 ! k

; BT )

1B5296 1020

2 r4 0
41652361021 : f k

Question Number : 25 Question Id : 41652915604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

41852951018
=]

4186529510149

415296510210,

41852961021

Question Number : 26 Question Id : 41652915605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bx,x..., x,, be the observed data such

n
that Y x = 2n=180 and

n
"“.!I_:-_'J /n= 30, then the mean of the

=
|
.

data (xy — 3), (x2—3), ..., (x,—3) is equal

o2
Options :
41652961022, 2
415529610275,
13

41652961024,

16
41652561025,



Question Number : 26 Question Id : 41652915605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ot dymix, 2, ..., 2, AU € TS5
:I1_ :I1_ :
Y x - 2Zn=180"w » x; — 7n= 304
=1 =1

SEE (v, 3), (% 3), ..., (v, ~3) F WA

Options
et 2
dlB52a6 1022
T 8
A1EE2361023
13
ATt 9
41652951024
16
3

41652261025

Question Number : 27 Question Id : 41652915606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I[f for two events A and B, in a random

4 |
experiment, P(A |B)= = and P(B| A)= e

then P{A |Aw B) isequal to:

Options :
5
] . 16
41852061026
5
41652061027, 1
16
- 17
4152081028
11
16

416529610249,

Question Number : 27 Question Id : 41652915606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
5
dlehZa9n]l02E, 16
5
41652951027 17
16
41652881008 |

41652081020, 10

Question Number : 28 Question Id : 41652915607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If & cos2t—2 cos2b -3 =0, then tan=30 is

equal to
Options :

1
41852961030

AN

41652951031

2
41682951022, °

L

5
41652961035, =

Question Number : 28 Question Id : 41652915607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AfE 6 cos™ — 2cos2i — 3 =07, Tan>3 T
Options :
1
41852961030,



dles2301031

|
dleb29el1032.

(SRR -

41652961033

Question Number : 29 Question Id : 41652915608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If a, b and ¢ (all distinct) are the sides of a
triangle ABC opposite to the angles A, B
and C, respectively, then
csinfA — B)  bsin{C — A)

= = - — isequal to :
a~ b -

Options :

dlE5 901054

416523651035

b3

41652961036,

41652961037,

Question Number : 29 Question Id : 41652915608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i a, b 79 ¢ (W1 Tafvm) v fing@ ABC 7
AT E W, HEW:, THE RN A, BAMC ®

- Ccsin(A — B) bsin{C — A)

IF“IE i' E“ 2 A 2 2

a b= C a”
AT E
Options :

]
152961034
41652961035 I

Z
41852881036

1

41652361037,



Question Number : 30 Question Id : 41652915609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The expression - (p«sq) is equivalent
ko :

Options :

41652361038

41652861029

Py
41652961040

(~pAaqdv(~qap)
418529610491

Question Number : 30 Question Id : 41652915609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AF - (p = q) 77 5 1 FFas aaqeg 87
Options :

q1es00s1088 P VAAA~P)

Py
41652961040

(~pAqdv(~qap)

416525381041
Aptitude Test

Section Id : 416529347
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 8
Number of Questions to be attempted: 8
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 416529519



Question Shuffling Allowed : Yes

Question Id : 41652915610 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 45)
Juestion Label - Comprehension

Sub questions

Question Number : 31 Question Id : 41652915611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A small lifl for carrying small loads only is
known as which ol the lollowing 7

Options :

t 1 5y LT
41652961042 A deal bearer

41652061 04D A dumb waiter

Algsoasinas *1ockey boy

A push upper
4152961045 !- P}

Question Number : 32 Question Id : 41652915612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hindustan Parrvware in the Indian market
is known for which ol the tollowing
product 7

Options :

%
41652961048 | IPeS

Sanitary ware

41652961047

P

Wall tiles
41652961048 ¥

A1EE29E 1048 Wooden tables

Question Number : 33 Question Id : 41652915613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one ol the lollowing is a UNESCO
World Hl'l‘l'l;.'lf‘,l' Site 7

Options :



Kochi
41652861050

41652961051 |iampl

Biynor
41652961082, P

Bijapur
41652961053

Question Number : 34 Question Id : 41652915614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The most famous temple in the Khajuraho
group of temples is which one of the
following ?

Options :

41652961054 —niva Temple

41EE2881 HEE Kandanya Mahadev Temple

a1e62a510sg —wanesh Temple

41652961057 Krishna Temple

Question Number : 35 Question Id : 41652915615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Parquet flooring is usually made of which
of the t'L'-IlnwinE 7

Options :

G it
41652961058, — 0w

arble
41652961059 ™M rble

1652951 06g, e

41652961051 "Vood

Question Number : 36 Question Id : 41652915616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The fort in Hyderabad is known as which
of the following, ?



Options :

41652061065, Dahubali

41652861063, Colconda

Siadhari
41652061054 —uadhari

41652861065 Y irbanda

Question Number : 37 Question Id : 41652915617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the tallest
building in Bengaluru ?

Options :

World Trade Centre
A1EEZ0E106E orld Trade Centre

A1EE29E 1067 Manitri Pinnacle

41EED061DES Concord Tower

LI B Tower
41652961069 .

Question Number : 38 Question Id : 41652915618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 5as Bahu Temple is located in which
of the following ?

Options :

a165205107g  ed Fort

ansi Fort
41652961071 ]h‘

swialior B
4165286107, walior Fort

41650861073, Jaipur Fort

Question Number : 39 Question Id : 41652915619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which amongst the following is the city in
ltaly that is known lor ils leaning tower ?
Options :

T w1
41650051074 ¥ Enice

41652961075 Florence

41652861076, Fome

41652861077

Question Number : 40 Question Id : 41652915620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Lotus Temple is located in which one
of the following aty ?

Options :

a165206107a [vew Delhi

41662081079, VAgpur

2152961080 pur

416529610g] ucknow

Question Number : 41 Question Id : 41652915621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cement Plaster is used for which of the
I'milms.'jng 7

Options :

W ra
T Covering walls

41652961023, Making roofs

Making staircases
41652961054 B =

-C.'i' i« l .
41652261085 1mnpl Hoows

Question Number : 42 Question Id : 41652915622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Helical staircases are which one of the
!'nlknh'lnfr. 7

Options :

41655551088 I.']Inf. Ivg staircases

416E2061087 Cu rving staircases

a165206108s, Craight flights

Staircases with no rail'mgs
41652961089

Question Number : 43 Question Id : 41652915623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An escalator moves in which of the
following directions ?

Options :

41652961090, Only vertically

41655551691, I.'flnlj.' horizontally

41852851090 "-.-rrl:m]l:«.' and Horizontally

) In steps
4165239610495

Question Number : 44 Question Id : 41652915624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Rooms with white painted walls appears
to be which of the following ?

Options :

Crralls
41662051094 —maller

Larger

41652961035

41652061036 Arker

Marrower
41682861057

Question Number : 45 Question Id : 41652915625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Zaha Hadid was bom in which country
amongst the following ?

Options :

41652961098 Rean

Irz
41652961099, 4

I5EE
4152951 100 ﬁ[ﬁhmu v

41652961101, Lurkistan

Question Id : 41652915610 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 45)
Cuestion Lakel Comprehension

Sub questions

Question Number : 31 Question Id : 41652915611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

w4 B2 VR =R F o ow g ferm W
Frfafaa H 3 fFos = 5 9 9 27
Options :

41652851042 e e

41652961043 T e

41652961044 T A A5l

4152961045 bk A

Question Number : 32 Question Id : 41652915612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YA 9w 4 figmm e et 4
fro s ¥ o am &7

Options :

4152961046

41652961047, A SO (Tl T G )



41652061048 SN ®l <5

41652961049 RS B HY

Question Number : 33 Question Id : 41652915613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frefefam § 3 57 W v g T aimm
Sk

Options :

41652961050.

415 961051

1652961052,

=

41652361083

Question Number : 34 Question Id : 41652915614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TIE HYE ¥ dfel ¥ §En wfag w5f
Feaffmm d A sA me?

Options :

o= =i

41652961059

41852961055

4152961056

41652061057 o ife

Question Number : 35 Question Id : 41652915615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T Y Sear 77 et 8 9 e
TTME?

Options :

415 961058 RUT



41652961059

4165961060

4152851061

Question Number : 36 Question Id : 41652915616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T | 1 frafafam § 9 s am
T = A g
Options :

41652961082 ]
41652361062 ]
41652961064

41652961065

Question Number : 37 Question Id : 41652915617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frefafmm 9 949t S0 #it 398 F49
AR £ 7

Options :

41652861086 170 A HR

41652981067

41652961068 Al 219

___ g A
4152961069

Question Number : 38 Question Id : 41652915618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o o g frefefem d o fro 8 fom #7

Options :



== e

41852961070
41652961071 ! 1 e
=g &1 e

41652361072

Y e
4152951075

Question Number : 39 Question Id : 41652915619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
EZE 1 A€ RN HEA R 9 g 2
& o = = 37

Options :
T

165286107 q

N

b L2
152981075

rig|
415295107075

41652961077,

Question Number : 40 Question Id : 41652915620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

#en eme fr=fafas § 3 fam ww § fem

g7
Options :

G i |
4165296107E

4152961073 I

41652951080 dik 3

L GET
416529610581

Question Number : 41 Question Id : 41652915621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



As, — vor Freiffi % A Reat
o faa = &7

Options :

41652951082 SR 1 T

41652961055 o=

4152961084

41652061088, O S0

Question Number : 42 Question Id : 41652915622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

wREn it frefefem § & #m @ 32
Options :
41652961086, =11 o1 MGl
41652961087, B0 i

P
41652951038 I 3T
a1esoscioge VN (T AN & Wi

Question Number : 43 Question Id : 41652915623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

wERe freafataa § | feg fam b gem £ 7
Options :
4165296105940 j =4

41652061091, PAC S

1652861092, AR A AfTS =

41652961095 fieH] ﬁ

Question Number : 44 Question Id : 41652915624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HE= 1 % 2EE e w9 fefatma g 1
FHAATAEAE?
Options :

41652961004 o=

41652961095 e

415 961096

41652961097,

Question Number : 45 Question Id : 41652915625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
| B L e e e B e+ e B 3
o1 ?

Options :

41652961038
41652961028

AFEMiEEA

2152961 100

4le52961101 ik

Sub-Section Number: 2
Sub-Section Id: 416529520
Question Shuffling Allowed : Yes

Question Id : 41652915626 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)

Cuestion Label : Comprehension
Directions : One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.

Sub questions

Question Number : 46 Question Id : 41652915627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



41652961104
41652961105

Question Number : 47 Question Id : 41652915628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961106

=

ilebU01100

Ilen2un] 0

Question Number : 48 Question Id : 41652915629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652361110



41652961111

41652361113

Question Number : 49 Question Id : 41652915630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41652961115

41652961116

41652961117

Question Number : 50 Question Id : 41652915631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961118

1652961115

41652961120



41652951121

Question Id : 41652915626 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label - Comprehension

e : 59 =t T = smfoal 6 | U st w9 s fm ¥ o w3 g et | g
B 1 T g8 E, 9

Sub questions

Question Number : 46 Question Id : 41652915627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

415001 10

41652261104

41652961105

Question Number : 47 Question Id : 41652915628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961106

41652261108



4leb2961 1009

Question Number : 48 Question Id : 41652915629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

4leh2961110

416525961111

dleb2E51113

Question Number : 49 Question Id : 41652915630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41652961117

Question Number : 50 Question Id : 41652915631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

41652961118

4152961119

41652961120

41652361121

Sub-Section Number: 3
Sub-Section Id: 416529521
Question Shuffling Allowed : Yes

Question Id : 41652915632 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
Juestion Label - Comprehension

Directions ;: Which one of the answer figure will complele the sequence of the three
i
}"n.r'l"i-.*m t'iﬂunc's 3

Sub questions

Question Number : 51 Question Id : 41652915633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

*=d

Options :

416529681122

41652961123



el
.I.

41652361124

416529611285

Question Number : 52 Question Id : 41652915634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

P s,

A ._.1._-1’. Ty - 7 \ 2

=

Options :

Y
41652961126
._;_‘_"1
- .
A
21652961127
X
__.-_-I'_
J1a5295] 12H, e

41652896] 129 Se———

Question Number : 53 Question Id : 41652915635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41652961131




Question Number : 54 Question Id : 41652915636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

. - .: o ]

Options :

41652361134

41652861137

Question Number : 55 Question Id : 41652915637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Lo M . :

", | i ol
1 t ¥ ¥ '?
) F =

41652261139



41652961140

s
=
g
LF

2951141

Question Id : 41652915632 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
Cestion Label COI‘H}JI"EHEHSiOH

39T : = angfadl § 4 5 4t angfa #1719 w99 snEfodi § 5 F S5 (sequence ) T
B A 2
Sub questions

Question Number : 51 Question Id : 41652915633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

*d

Options :

AR
'

41652961122

1652961122

41652361124

41652961125

Question Number : 52 Question Id : 41652915634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



£ W\ 1 i
Options :
.;l__ ®
41652961 126
",
-.:._.-_.J."_
_.-'-.
21652961127,
X
TP S
416529681128, ——

41652961129 =—=-

Question Number : 53 Question Id : 41652915635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i = .". 2
Options :
.| I. ."'- I-.I
i %~
41652961130
LD l
41652061131, =T
41652061132, =S
[ T J
£ N
41652961133 :

Question Number : 54 Question Id : 41652915636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

41652361134

41652951135

41652961136

41652961157

Question Number : 55 Question Id : 41652915637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

G
"

-
"l

Options :

41652051158

41652261139

41652961140

41652951141

Sub-Section Number: 4



Sub-Section Id: 416529522
Question Shuffling Allowed : Yes

Question Id : 41652915638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)

Guestion Label : Comprehension
Directions : The 3D figure shows the view of an object. Identify the correct front view
looking in the direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 56 Question Id : 41652915639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41eb2951142

d165296114%

41652961144

P [ [

416523681145

Question Number : 57 Question Id : 41652915640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

4152961146 W

41652961147 —

=

41652361148

41652261149

Question Number : 58 Question Id : 41652915641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961150 M—

41652061151, L— 1



41652961152

| [ ]

41652951155

Question Number : 59 Question Id : 41652915642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961154

41652361155.

41652961156

Question Number : 60 Question Id : 41652915643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

4165259

[
Ln

g

N

1

41652981160 4'I

41652961161 S

Question Id : 41652915638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
Juestion Label | Comprehension

fador: 3D v argfa O vE 7 F uF 7vn W femw n B A w0 fown § T A, R
TV 39 T T AFG § | g |

Sub questions

Question Number : 56 Question Id : 41652915639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :



41eb2951142

d165296114%

41652961144

LEilna|igiit

416523681145

Question Number : 57 Question Id : 41652915640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

416852951146, 41
|

41652961147 —

=L

41652361148

41652261149



Question Number : 58 Question Id : 41652915641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652981150

41652861151, L1

1
- —

I

|

41652361152

| [ ]

41652961155

Question Number : 59 Question Id : 41652915642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652361154



-

41652361155.

41852961156

Question Number : 60 Question Id : 41652915643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

4165236115

41852361160, ———

41652261161 S

Sub-Section Number: 5
Sub-Section Id: 416529523
Question Shuffling Allowed : Yes



Question Id : 41652915644 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (61 to 65)
Cestion Lakel CDITLI}I"EhEﬂSiOﬂ

Directons : Which one of the answer figures is the correct mirror imﬂﬂ" of the Fr“m"'m
figure with respectto X - X7
Sub questions

Question Number : 61 Question Id : 41652915645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X
_l
X
Options :
41652961162
e g
416529611653 d

qleb20b1164 g

41652961165

Question Number : 62 Question Id : 41652915646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X




Options :

&ﬂ :
1 \-:‘::l
41652961166
3 "'l..' 1
'.:.'
41652961167 b
41652951 188
¥ : 'r:
i -'u.
Ty J.'
41652861169 —

Question Number : 63 Question Id : 41652915647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X
v~
I .:, |
i .-'-
X
Options :
A 4
i i -_.-'1.
i,
! i X:
41852981170 -
"'..- Eas [ ._1.'_
[
|1 ._J: 1
A 1K
418529511 7F1 el
41652081172 Lol




1
E
41652961173 Lesiio

..'.
o

Question Number : 64 Question Id : 41652915648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :

41652061174, —i—

41852981175 —L—

41652961176

41652981177

Question Number : 65 Question Id : 41652915649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :



41852361178

41529611739

416528961180

q1a52951151

Question Id : 41652915644 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (61 to 65)
Juestion Label - Comprehension

foroT : v srfndl o & S STl S T ST X - X R weEi wE i wiae

L4

Sub questions

Question Number : 61 Question Id : 41652915645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X
- -'i-
X
Options :
Y
41652961162 -

41652961162



41652961164 -

41652961165

Question Number : 62 Question Id : 41652915646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

X
. I
Options :
41652961166
41652961167 = ;
41652961168 3¥—~;-

41652861169, ~—

Question Number : 63 Question Id : 41652915647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

41652961170,

41652961171 ot

41652961172 SE

416529651173 Lo

Question Number : 64 Question Id : 41652915648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :

41652961174 —

41652961175 l————i—J



41652961176

41652361177

Question Number : 65 Question Id : 41652915649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :

41652361178

L
o

41529611739

41652961180

q1a52951151

Sub-Section Number: 6
Sub-Section Id: 416529524
Question Shuffling Allowed : Yes

Question Id : 41652915650 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (66 to 70)



Cuesticon Label | Comprehension

Directions : The problem figure shows the top view of an object. Identify the correct
elevation from amongst the answer figures looking in the direction of the arrow.,

Sub questions

Question Number : 66 Question Id : 41652915651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

]

Options :

41652961182, |J£—"
11

41652961183 il

41852951184 é
!

41652061188 — 1

Question Number : 67 Question Id : 41652915652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :



41652361186

416525961187 |—|

=

41652961188 |—|

41652961185 |—|

Question Number : 68 Question Id : 41652915653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

|

Options :

|

41652961130 J
]

[

416529651191



41652961192, { *‘

416523611393

Question Number : 69 Question Id : 41652915654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

D__

Options :

jud
Te]
(]

41652361

41652361137 é

Question Number : 70 Question Id : 41652915655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

41652961138
41652261199
41652961200. -

41652961201

Question Id : 41652915650 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (66 to 70)
Cuestion Latbel COI‘H}JI"EHEHSiOH

fRaw : we anfa & Feedt =0 = =0t <7 e mn @) iR 6 fean & 2w g, 3 st
H | T T TEE TvE TR |

Sub questions

Question Number : 66 Question Id : 41652915651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

]

Options :



41652361182

41652961183 i
—

41652961184

41652961185

Question Number : 67 Question Id : 41652915652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

L

|

L

41652361186

L1

41652961187 I—l
[T1
41652361188 |—|




[ 1]

41652361189 I

Question Number : 68 Question Id : 41652915653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[/

Options :
416523961130
416529611491 ‘ ‘

41652381192, { ‘

41652961133

Question Number : 69 Question Id : 41652915654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



J5{
|

Options :

4152061194

41652361136

[]

]
[

s1es2081195 L]
[]

1

L1

41652361137

Question Number : 70 Question Id : 41652915655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

416529511398

41852961199

41652361200



41652961201

Sub-Section Number: 7
Sub-Section Id: 416529525
Question Shuffling Allowed : Yes

Question Id : 41652915656 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (71 to 75)
Cuestion Latbel COI‘H}JI"EHEHSiOH

Diirections : The 3D figure shows the view of an object. Identify the correct top view
from amongst the answer Hgures.

Sub questions

Question Number : 71 Question Id : 41652915657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652361202,

41652961203

41652361204

L

41652961205 *

Question Number : 72 Question Id : 41652915658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

41652261206 4_1

416852961207,

1652961208

416523261209

Question Number : 73 Question Id : 41652915659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41852961210 .

41eb2961211

41652361212



Question Number : 74 Question Id : 41652915660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652261216

41652361217

Question Number : 75 Question Id : 41652915661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652361218



41652961219 |

41652261220 J

41652951221 e ey

Question Id : 41652915656 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (71 to 75)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ

fdw : 3D v e § vF g F uw A frwen omn ®) s o SO 3w, T
HAFT | W IR |
Sub questions

Question Number : 71 Question Id : 41652915657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

vy

Options :

41652361202,

41652961203,

41652361204

L

41652961205.



Question Number : 72 Question Id : 41652915658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652061206 —

41652261207,

1652961208

416523261209

Question Number : 73 Question Id : 41652915659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41852961210




41652961212,

Question Number : 74 Question Id : 41652915660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961214

41652361216

Question Number : 75 Question Id : 41652915661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :



41652361218

41652261219

41652961220

41652961221 - .

Sub-Section Number: 8
Sub-Section Id: 416529526
Question Shuffling Allowed : Yes

Question Id : 41652915662 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Zuestion Label : Comprehension

Directions : The 3D higure shows the view of an object. Identity the correct side view
looking in the direction ol the arrow, [rom amongst the answer ligures.

Sub questions

Question Number : 76 Question Id : 41652915663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41852981222 L |




—
|

41652961223, L

41652961224

Question Number : 77 Question Id : 41652915664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41652961225

Options :

41652961226,

=i
=l

41652981227

41652951228 |

qleh2he 1228

Question Number : 78 Question Id : 41652915665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



e 5

Options :

o
[ |

X
41652961230 —

41652961231 L
41652961232, ——
=
5|
41652361235, |

Question Number : 79 Question Id : 41652915666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

™1
Options :
i
4152961234,
41e52361235.

416529612356



ES

41652361237

Question Number : 80 Question Id : 41652915667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

4152001258 L

4l

416523681239

]

41652381240

41652961241

Question Id : 41652915662 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Cuestion Label © Comprehension
39T : 3D WA AT § U 999 & UF o4 1 Tow v B A few g 7, oee e
79 H1 TN AFHOA H 1 gEeEg

Sub questions

Question Number : 76 Question Id : 41652915663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Options :

_F

1

41652961222 —

—
|

416523612253, S

41652961224

5

41652051208 —uu

Question Number : 77 Question Id : 41652915664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652061226 L |

1

41652981227

-

41652951228 |




T

qleh2he 1228

Question Number : 78 Question Id : 41652915665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

i
416523561230, ——

41652861231

41652361232,

[ IR

41652361233

Question Number : 79 Question Id : 41652915666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41652961234



41652961235,

q1eh28E 1256

41652961237

Question Number : 80 Question Id : 41652915667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

s

41652361239

I
41652961240 Ig

41652961241
DI'ElWiI'lg
Section Id : 416529348
Section Number : 3
Section type : Offline
Mandatory or Optional: Mandatory
Number of Questions: 3

Number of Questions to be attempted: 3



Section Marks: 70

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529527
Question Shuffling Allowed : No

Question Number : 81 Question Id : 41652915668 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20

In the space provided in the answer sheet
for this question, draw margin lines to form
a frame. In this frame create an aesthetic
composition using only cubes. These can
be of any size, and may be placed separate,
overlapping or within each other, The idea
is to produce an aesthetic and visually
exciting composition of these shapes n the
frame without making it represent any
realistic form like house face etc. These
shapes and the other spaces should be filled
with some colors of vour choice so that the
visual quality of the composilion is
enhanced, 20 marks

Question Number : 81 Question Id : 41652915668 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20

=0 We F U 3 S 4 WeE 91 W e,
R A & T sty eneel 1w gm s
T Fae 9EE w1 39 % UF Oigd =9
T § | 4 g FRd o S A §
T T UF TEH F Wi, FAem-em, A@
ATl TR o W £ 1 56 e (A 9w
# o 59 1 7 gl #1 vw e d9r T
iMias 9 %1 B s 2, fan e
TS B9 7 T F Te AAife w1 it
FA | T AHIOE AT A= =E F A
THE T F9 TN § 90 F =i @i T
U A W OHF | 20 37

Question Number : 82 Question Id : 41652915669 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20



Copy the graphic image shown in the space
provided for the answer of this question.
Credit will be given to the exactness of your

ANSWET. 20 marks

Question Number : 82 Question Id : 41652915669 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20



™M WH F I F 60 WEE F T WE °
fermam o mitw fom =1 wiafaf ==amd 2w
I I IO Ham e A 20 3t

Sub-Section Number: 2
Sub-Section Id: 416529528
Question Shuffling Allowed : No

Question Number : 83 Question Id : 41652915670 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 30



In the space provided for the answer of this
question attempt any ONE of the
following : 30 marks

Design and draw anapproprate pattern for
a square table cloth. Color or shade it to
enhance its visual quality.

OR

Draw a pi:turc of a classroom ln-nking
towards the teacher from behind the
students.

OR

Draw from imagination a picture of an
officer sitting in his office.

Question Number : 83 Question Id : 41652915670 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 30

0 9FE & I & fom fen o wgme v feaiatea
H 9 foel TR = T H 30 3

TF HH T THA T A FIE F fAw o 1=
femme siv fafim #% | st 2w o 72
F fem @ T v €

e

T F 98 | fags 31 50 ¥ T ey
%1 d=it fafm +10

AT

Foa | fafm 7 #7 FEeg | 53 1%
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Actual Answer Key: Yes
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Group Id : 416529182
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 390
Ma-hornatics
Section Id : 416529340
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 41652915398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of elements in the sel,
ArmBrC
where A=|{r, e RxR: |x| + |y]| = 1]
B={x,y)e RxR:22+ ¢ = 1}

and C={{x, y) e Rx R:max||x]. |y]]=1),
L



Options :

41ELpUE0pE

]

415E2RA0ZEE.
41552980254, 4

——— infinitely many

Question Number : 1 Question Id : 41652915398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= ArBaC, wE
A={lx.y)e RxR: |x]| + |v]| = 1]
B=|x, e RxR:x 1+ = 1)
T C={(x, ) e RxR : max||x],
LE ook b 8

Options :

vi1=1},

Lol 2EE.

I

4125 P0E0 .
41nneannsng 4

41652960285 T4

Question Number : 2 Question Id : 41652915399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 4 i3 -
Lelu=fﬂnd:=u u=- 2 Then

the value of A+ 323422 - 11z-his:
Options :
41atpotlsee, L

Alzseasnzer. 1
AlEEFHG0IRES.

ALZEZEE0ZEsE, <

Question Number : 2 Question Id : 41652915399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
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41
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Question Number : 3 Question Id : 41652915400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let (a, b) be the solution of the system

1

roots of the equation ax® + 2bx — {a + b)=0,
then the equation, whose roots are af and

' 1 3] [2
E.'ry][ﬁ 1}=|V‘I. If « and B are the

| |
= == g3
vy ﬁ
Options :
o Tt O i
41652960290, 1=% T4/ x+40=0
i eV - e
41652980291 12v H17x-40=0

Rl e
atesp9s0202 12% —3x+56=0

2. "
41652980003 O Hdx +80=0

Question Number : 3 Question Id : 41652915400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



%1 ¥ (a, b) 1 Afz mEIEIM
al by —(atbj=0 F @R T |

ﬂ'ﬁ"ﬂmﬁﬂ%"ﬁmﬂﬂﬂl—iut
%:

Options :

41652960290, 1% H 47X +40=0

41652980291 1:1'1 +17x - 40 =0

41652960252 12F — 2w +36=0

41652960293 X T4 +80=0

Question Number : 4 Question Id : 41652915401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
q

b I
I :ﬁ.m=['f ].wh&re A=[ z
(S | 4

¥

d
thena +b+c¢+dis equal to;

Options :

zl'ﬂ'
418520802594

41652960295, 2

41652960296, 2

¥

22
41652360237, ©

Question Number : 4 Question Id : 41652915401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
| la 1 1
ofe A% = e | A = { ,] LA

atb+ct+d atm%:

Options :



416525960294

41652060295,

. |
41652960296, =
2

41652960297

Question Number : 5 Question Id : 41652915402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of solutions of the equations
dx—-y-z=0
-3x+ 2y +2=0
-+ z=10
such that x, y, = are non-negative integers
and 1= 1 y:l =2<8l is:
Options :

d155EARNZ5E. 3

e |

t-a

41558960201

Question Number : 5 Question Id : 41652915402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
srol
Jx-y—z=0
-3x 42y +z=0
~-3x+z=0
F 3 vl w1 wen, T i, y, o T Y
e a2y y:-l-:3551 T2
Options :

41582880z,

i 3 et [N



41552080300, 1

=
ALEEZUENSCL, =

Question Number : 6 Question Id : 41652915403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The number of subsets of (1, 2 ... 99)
containing at least 50 elements is:

Options :
99 =5
41652960302 £ — 2
=40
a1652980303, 2 2

.11
41652960304 =

ﬁ
41652960305, ~

Question Number : 6 Question Id : 41652915403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

11,2, .., 9) F 3 syug=r, fad #a g
FH 50 FEEE #, T HEm ¥
Options :

41652980302, 27 - 2%

] ]
41652960303 h-20

41652060304 2

]
41652960305, =

Question Number : 7 Question Id : 41652915404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The coefficient of 2° in the expansion of

y 0

I L8] .
5
2y? r .

(1-x) l

Options :
41652960308, 405



i)
41652960307 D6

0B
41652060508 200

45

41652360303 =

Question Number : 7 Question Id : 41652915404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
¢ 9 0

(1-x)

FUERH O W

2

Options :
41652960308, 405

45
41652960307 20
_ 5
41652960308
406

41652960309, Db

Question Number : 8 Question Id : 41652915405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An AP. having an odd number of terms,
has its first, second and middle terms as
=12, =7 and 38 respectively, then the sum
of this AP is:

Options :
41652960310, 590

41652860311 00
41652960312 790

41652960313, ‘10



Question Number : 8 Question Id : 41652915405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

oF w49, faus wi s den fam g ¥
Wy, T A ve o - 12, -7 A
38 ¥, A 50 THE A = AaTEe B

Options :
41652960310, 90

41652960811, 18

41652960312 790

41652960313, /10

Question Number : 9 Question Id : 41652915406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1
£
i S5, =% T. =nn+l)(n+2)(n+3),

n
=]
10 1
N :
then — 7 isequal to:
=1 r
Options :
Y
41652960314, 1096
58
41652980315 928
65
41652960316, 228
65
41852960317, 1056
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Correct Marks : 4 Wrong Marks : 1
- “ a
g 5, = ¥ T, = n(n+1) (n+2) (n+3),

=
0y
& 2 T R
=] °r

Options :



i)
41652960314 1056

8
41652960315, J28

L

dleoZ9el3lb 28

h5
41652060317, 1056

Question Number : 10 Question Id : 41652915407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i %

. o 44

If lim ———— =9 then p is equal
T=+4 3 33

o

Options :

ng

q1es2080318, &) C
1

41652960319, )

iy
41852980320, =)

—ip

416852960321 @) =

Question Number : 10 Question Id : 41652915407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1, |
1 14 "
ofy lim ——— =% | p‘ﬂlﬂ'{i :
= g3 43

Options :

n:
41652960318 &) °

1
Z) e

41652960319

41652960320, (&)



41652080321 (2)

Question Number : 11 Question Id : 41652915408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let f: R=R be a differentiable function
such that flu+v)=fla) + 202+ due for all
w, v e R 1M f{1) =3, then the equation of the
normal to the curve y=/{x) at the point

2

Options :

P | =
r-r|--

41652060322 A ty=3

41652960323 = W=-3
iy
41652060324 X HAy=7
;
1652980325, © =0

Question Number : 11 Question Id : 41652915408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HA TR ATFEHT A f:R=R THTHEH

T &5 =it u,rt-lvtiliﬁ"ﬂ{
flu+v)=fu) + 202+ 4u0 T1 AR M1)=3 7,

@ g (3.1 3 || Wy =)
1 HHE

Options :
41652960322 ¥ ty=3

41652960323 =X —dy=-5
41652980324 = tdy=7

41652360325

Question Number : 12 Question Id : 41652915409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Let A e Rand

| M [x+ 1L < =1
fix)=14 - N, x=-1
| [sin({=x)] + 2Ax, x> -1
where [t] denotes the greatest integer
function. If fix) is continuous at x= -1,
then A is equal to;
Options :

41552960325.'_1

:'_.|.1-||.1

ALZEZHIZET,

41z 2000558, 0

4150 RAR005E

Question Number : 12 Question Id : 41652915409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 1

o= & e K H
A Jx + 10, r< 1
f{x) =4 — . r=~1

! [sin{=x)] + 2hx, x> -1
o [t Fee i wEA # ) A a1 W
fix) HEAE, WA TR :
Options :

415E29R032E, 1

1

4] L POE0-E 3
Alzsmog0anE,
|
315EuE0SEE O

Question Number : 13 Question Id : 41652915410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



If the tangent o the curve, 13y + o =4,
(o, B e R) at the point (1. 1) onitisdy + 3y =7,
then the normal o it al the point (x;, —5),
x; < 0on the curve, is :

Options :

41652960330 HE N =0

Y
stespesozzy 1ty =0

41652980332 = H A+ 108=0

atespagongs T 20y +106=0

Question Number : 13 Question Id : 41652915410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e T 2yt af =P (o peR) T T (1, 1)
W ORI o +dy=7 & W T F A
(xy, ~5), x, <0 T A

Options :

41652980330 O T4V +26=0

%o 4 dur 4V =
atespasazsy T HB=0

41652960332, = + Ay +100=0

3 4 20y + 106=0
41652960333 y

Question Number : 14 Question Id : 41652915411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let AP and BQ be two vertical poles
standing on the horizontal ground at two
points A and B respectively. Il AP =16 m,
BQ=22 m and AB=20 m, then the
minimum value (in m?) of RP2+ RQ%,
where R is any point on AB, is :

Options :

41652060334 540



41652960335 "

41652960336 106

41652960337 e

Question Number : 14 Question Id : 41652915411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oM e e F A Tl ATW B W
wH9: 9 e AP AW BQ W% wy ¥ 3fe
AP=16 91, BQ=22 5l A9 AB=20 W ¥,
RP2 4+ RQ?, 98 R, AB W1 farg 7, o1 =prem
A (AT HI H) 7

Options :
41652960334 D40

416525960335. 60

41652960336 1045

41652960337 e

Question Number : 15 Question Id : 41652915412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2

-
e -1

(Here C is a constant of integration),

The integ ral I dx is equal to:

Options :

x+ ] =g Y] +C
41652960338 e |€ |

¥+ lo =+ C
41652960339 Be | I

. B =X -
41652960840, * | VB € HETIHC

x4+ log. |+ e + C
41652960341 Oy |€+ 7

Question Number : 15 Question Id : 41652915412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
)

dy T E :

|

L":I |

(T¥l C T OuFEFER A )

Options :

41652960338 loge |&* — e+ C

stécosenaze ~ ¥ Y 108e l¢f =T + C
d16soacosqn. X P 108 [ €T+ C
siiieasaoniy X T VR 1€ €7+ C

Question Number : 16 Question Id : 41652915413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The integral
i
Ii_!-in T3 — 427y — cos Y {4x* - 3x) | da
1
is equal lo:
Options :
d1z5Fme0IdE. 0
41852960343 2
3
£l
41652960344, —
.
3
41652960345 ~

Question Number : 16 Question Id : 41652915413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



R

Options :

41252980242, 0

41652960343 2
i
b |

41652960344 =
w
|

41652960345, ~

Question Number : 17 Question Id : 41652915414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The area (in sq. units) of the region

A {l.‘[.yi:li*-'_l_.r'-'l"i..;il _I;ffi.s:

Options :
W2 7
41652060346, -+ 2 O
42 7
41852960347, b
22 5
e i r e
41652960348 b
21 S |
41652060349 2 b

Question Number : 17 Question Id : 41652915414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g A=|xy:0sysx=L2 ylw
mfﬁmﬂ}i:

Options :



$f23 7
41652960346, - b
4.2 1
41652960347, 6
22 5
i r P
41652060348 - 2 O
21 o O |
41652960349 b

Question Number : 18 Question Id : 41652915415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y= y(x) be the solutionof the differential
equation e’dy=(1 +x +e¥+xe¥) dr and
w1} =0. Then y{ = 3) is equal to

Options :

41352880350, U

I | b

41652960351

a1espasnzse OBe(2)

3
log.(2) 3
41652950353

Question Number : 18 Question Id : 41652915415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Al y=y(x) HIEE  HHHIW
Fdy=(1+x+e¥+xed)dy T y(1)=0 =
AR My(-3) FTHE:

Options :

4155zaan3zsc, U

T | b

41652960351



arespagozsy OBe(2)

3
log.(2) 3
41652960353

Question Number : 19 Question Id : 41652915416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U Ay Ay Ay Ay, Ay and Ag are the verlices
of a regular hexagon inscribed in a circle of
unit radius, then the product of the lengths
of the line segments AgA,, AgA, and AgA,

IS :
Options :

41652960354, 22

41652960355, W3
E R T

2.3

41652960357

Question Number : 19 Question Id : 41652915416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ofe 7 o % O o o s v et
WA F I AL AL AL AL A, TWAE @
TEEE A A, A A, AU AA, T ERETEE
R

Options :

41652960354, 2V2

41652960355, W3
E R T

23

41652960357

Question Number : 20 Question Id : 41652915417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A line s drawn from a point P(- 4, 3) 1o
cut the dirde, ¥ + 1 =4 at the points A and
B. Then PA-PB is equal to

Options :
29

4125 2UE0=5E.

)

Al ZEZHIZEE.

A1nnsanntne 21
A1 EEFWE0ZEL.

Question Number : 20 Question Id : 41652915417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fag P-4 A TR T A g
Ciy=4FifagEi AT B TRAI T @
PAPB 00 ¥ :

Options :
29

41z 2000500,

)

Al ZEZHIZEE.

2
A1nnsanntne 21
A1 EEFWE0ZEL.

Question Number : 21 Question Id : 41652915418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
:,1 |
Themmmllnl:henllipsel—h i E = T ak

2
a point P on the ellipse has slope 3 If this

normal intersects the major axis of the
ellipse at a point A, then [IF"M.}1 is equal to :

Options :

104

41652960362 9



1%
41652960363, 7

Ld
41652960384, Y

32
41652960365, 3

Question Number : 21 Question Id : 41652915418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
] "

ﬂw:—;lgwlﬁqﬁﬁﬁ[?ﬂ

ﬂﬁmwfrmtslupe}%h T T

ApE i E TN g R TE ARG A W
FEME, W(PAZ TR T

Options :
04
41652960362, 9
136

41652960363, Y

el
41652960384 Y

32
41652960365, 3

Question Number : 22 Question Id : 41652915419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I tangents are drawn [rom the point
(4. 2) 1o the hyperbola, 163> 25y* =400,
then the sum of the reciprocals of the slopes
of these angents is

Options :

| un

41652960366



| e

41652960367

| e

41652960368.

4
41652960369 2

Question Number : 22 Question Id : 41652915419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afe famg (4, 2) | SfrwEem 1602 - 2517 =400
W T TEE wiel T E W 3 T s w6l
yEmaE (slopes) F SqERAl 1 ATEA 7

Options :
5
41652960366, 2

| e

41652960367

| e

41652960368,

4
41652960369, O

Question Number : 23 Question Id : 41652915420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A plane passes through the points (o, 1, (),
foe, 2, 1), (=2, 2 ~1)and (1, 1, 0) for some
w € K. Then the distance of the point
(1,1, 1) from this plane is :

Options :
1

41652980370 22

5
41652960271 it



3

:F'I']‘
i

-

Jir

41652360372

41652960373

Question Number : 23 Question Id : 41652915420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol e R % o0 v Toes fagail (o, 1,0),
(e, 2, 1), (— 2.2, — 1) 78T (1, 1,0) A EF=FT TN

B AEg (L) R R

Options :

] b

41652960370,

3
41652960371 il

3

:F'I']‘
i

-

Jir

41652360372

41652960373

Question Number : 24 Question Id : 41652915421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

m—

Let DA = 5 = l
.|

it :i-].

OC=b=i-2j+k and

= = =3 ! .

OB = 10a + 2 b - Letp(insq. units) be
the area ol the quadrilateral QA BC and g
(in sq. units) be the area of the

parallelogram with n_.; and L; as
adjacent sides, then ‘E is equal to;

Options :
4155288037, 3



4150 An00FE
415528503 7E. b

AL ZEZHIZTT
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Correct Marks : 4 Wrong Marks : 1

=l

HI40 l,."I'_-'q_ =2 THE—

rd
b
I

i 8
i||||f

o | =

OC=b=i-2j+kmm

OB = 10a | 2b & | 5P 99f¥ OABC
T &A% (T T H) p ¥ 79 HHN
<= fora e e OA 7 OC § #
A (= T H) q 8, @ t;-m%:

Options :
4155288037, 3

o=

41 - 20603 0E,

4150607 6

&

41 o 20503

Question Number : 25 Question Id : 41652915422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A bag contains 8 white and 6 black balls. A
ball is drawn at random from the bag, its
colour is observed and kept aside (i.e. not
returned in the bag). Three additional balls
of the same colour as observed are put in
the bag. If now two balls are drawn
simultancously at random from the bag,
then the probability that these two balls are
of different colours, 1s ;

Options :



i | b

41652960378

|.r-

41652080379 19

7
41652960380, 22

41652960381, 29
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Correct Marks : 4 Wrong Marks : 1

THFAHE AR e FEIE S TAH A
e e g e W 8, S i
T wem T e W (Sl A g9
3 e =) | BT I E AR afafe i
mAima e aRmim A a9 T
A UF WY Fret et € @ d i

Options :

n | bk

41652960378

|.r-

41652960379 12

7
41652960380, 29

41652960381, 32
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A factory has two machines A and B. The
machine A produces 60% of the items
manulactured while the machine B
produces 40% of the items. Further 2% of
the items produced by the machine A are
defective and 1% of that produced by the
machine B are defective. If an itemis drawn
at random from the manufactured items,
then the probability of its being defective
I5:

Options :

41852960382, U160

41652960383, (L0

41652960384 V16

41652960385, 014
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TH FEA A A 9E A A B ¥ FE T
 FEE § A 60% A A T 8, TafE
T B, 40% T &1 T 99 A BRI
% wEE #2% qfoql § aw 7 B W
T T A w1 e ¥ At wmwe
LR CERER L s Reta i
2, oo il @ # miwwa

Options :
41652060382, 1160

41652960383, (L

41652960384 V16

416529602385, 0014
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Correct Marks : 4 Wrong Marks : 1



The mean deviation about the mean of the
data in the following [requency
distribution :

x o| 1] 2| 3
frequency| 2 | 5| 4 | 1

1% ;
Options :
4
41652960288,
i3

41652960387, 18

= Y]

41652960388.

o | W

41652960389
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Correct Marks : 4 Wrong Marks : 1

AT 42
x 0 1 2 i
aamm | 2| 5| 4| 1
# Hiwd =1 A F wow me faeer 1
Options :
ke
41652960386,

41652960387, 18

41652960388.

41652960389
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Correct Marks : 4 Wrong Marks : 1
LetS=[0e (0, 2): 2 sinb (4 sinh — sin3#) =3,
Then ¥ tan” 30 is equal to:
Bes
Options :

4=

413E2HR03EC, -

AlzSewsnzsl, ©

41zEpegnzos, 1

.
410NN TEn T
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Correct Marks : 4 Wrong Marks : 1
A1 S= |0 € (0, 237) : 2 sinB(4 sinb — sind0) = 3}
A E tan< 30 TETE :
Hes

Options :

- =

415E29R03SC, ~°

AlzSzasnzz. ©

41zE208022z, 1

.
410NN TEn T

Question Number : 29 Question Id : 41652915426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two lowers AB and CD are standing ona
horizontal plane with points A and C on
the plane. If AB=10 m and the angles of
¢levation of D from A and Bare 60° and 15°
respectively, then which of the ollowing
(in meters) is not true 7
Options :
AC= {5 +1
41652960394 .



3, .
D= (34 V3

41652960395

BD) = 543
41652960396 53

AD =343 ¢+ 1
41652960397 [J_ ]
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#fra e F fogsfl A 791 € W & o
ABTNCD WEI 8 IR AB=109Ia9D %
A 791 B B TR M FEW: &0 A 150 ¥,

M dasm @ (HH) v e
Options :

AC=={{F +1)
418520803094 "

5o

h=—{3+ 3
41652960355 g

BD = 5J3
41652060396 53

AD =543 + 1
41652960397 (V3 +1)
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Correct Marks : 4 Wrong Marks : 1
Which one of the following stalements is a
tautology ?

Options :

41652960398, PAI™(R A 9)

s1652060389, P~ WV =P v Q)
41652960400 F ¥V 9~ (=(p 2 Q)

o [" &'
4165290401 1 {P q:”
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/= | 4 =1 W wYR uF et R
Options :

A (~{p 2 |
41650980398 | R

41652960880 P "V Y TP v @)

41652980400 P ¥ UV ~ (=(p 2 9)

41652960401 4 =(p L
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Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 8
Number of Questions to be attempted: 8
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529497
Question Shuffling Allowed : Yes

Question Id : 41652915428 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 45)
By b e L T ) o o) gl 5 L o I [ e

Sub questions

Question Number : 31 Question Id : 41652915429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following was usually
constructed in a chaitya in a Buddhis!
Monastery ?

Options :



41652960402 N8R

41652960403, Tvandi

41652960404 tUpa

41652960405 Cross

Question Number : 32 Question Id : 41652915430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The famous Sun Temple is located inwhich
of the following State ?

Options :

41652960406, Dinar

41652960407 Odisha

41652960408 Jharkhand

41652960408, —hattisgarh

Question Number : 33 Question Id : 41652915431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The honzontal part of a staircase is known
as which ol the tollowing ?

Options :

41652960410, 1User

41652080411 |read

41652960412 Rail

41652960413 DBaluster

Question Number : 34 Question Id : 41652915432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where amongsl the I'nl!nwlng are Lhe
famous rock cul caves found in India ?

Options :



41652060414 Dhopal

41652960415 *‘lahabad

41652960416, LLOTa

41652960417 Bunor

Question Number : 35 Question Id : 41652915433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the | nl]nwj:ng colors is
considered to be the happiest of colors ?

Options :

41652960418 Blue

41652960419, Dlack

41652980420, Yellow

41652360421 Red

Question Number : 36 Question Id : 41652915434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who amongst the following designed the
Madhya Pradesh Assembly building ?

Options :

B.V. Doshi
41652960422 !

41652060423 Faj Rewal

41852960424 Charles Correa

41652960425 oo

Question Number : 37 Question Id : 41652915435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among, the i'-uIluwing is the tallest
building in Kolkata ?

Options :



41652060426 1heds

.
1650060427 1E 42

41652950428, The4d

41652060429, Thedb

Question Number : 38 Question Id : 41652915436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Capitol Complex of Chandigarh is
designed by which one of the following
architect 7

Options :

41652960430 8 Rewal

41652960431 Charles Correa

41652960432 - Corbusier

41652960433 BV, Doshi

Question Number : 39 Question Id : 41652915437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The texture of a baby’'s skin is which one of
the following ?

Options :

41652080434 Rough

41652960435, Smooth

41652960435, —Orrugated

41652960437 DUMPY

Question Number : 40 Question Id : 41652915438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A gondola is a boat found mainly in the
canals of which one of the following
cities !



Options :

41652060438 London

41652960435, Faris

41652060440, ¥ enice

4165206044 Frankiurt

Question Number : 41 Question Id : 41652915439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The best shadow less light is found from
which of the following direction 7

Options :
41652060442 North

41652960443 —outh

41652960444, Eost

41652960445, TVest

Question Number : 42 Question Id : 41652915440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[n the Indian product market Ebeo is known
for the manufacture of which one of the
following ?

Options :

41652960446, 1 ywood

41652960447 Olass

41652060449 [liles

Question Number : 43 Question Id : 41652915441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Whaltis the thickness of a normal one brick
thick wall ?

Options :



41652960450, ~00mm

41652960451 0 mm

41652060452 — U mm

41652060453 00 mm

Question Number : 44 Question Id : 41652915442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following colorsis made when
reed and vellow colors are mixed ?

Options :

41652960454 Creen

41652960455 Pple

41652960456 ©TANEe

41652060457 DK

Question Number : 45 Question Id : 41652915443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A gulter with a sloping rool & meant for
which of the following ?

Options :

41652960458 HnIding, the rood

41652960459 Draining rain water

41652860460 Lecoration

o le_n:l:ng windows

Question Id : 41652915428 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 45)
B L T T | o ) gt &' g f B [ e

Sub questions



Question Number : 31 Question Id : 41652915429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fr=rtafem § | foams o e w 91
w2 H 9 | T w ?

Options :

41652960402 1

41652960403 T

41652960404 L7

41652960405 ®M

Question Number : 32 Question Id : 41652915430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
wiaE E df fefats 4 4 f5a o= 4
foqm 77

Options :

41552ﬁ504ﬂ5.| olb

41652960407

41652960408 S

=

41852960409 -

Question Number : 33 Question Id : 41652915431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

St & S vm 3 Pt § & fea
w9 H 3 w87

Options :

41652960410, 01 Heh

41652960411 [?3]

™

P12 =W ()

41652560412

41652060413



Question Number : 34 Question Id : 41652915432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

vy | fr=fafem § 7 9 @ ow v vfng
71 =2 T ¥ 7

Options :

41652960414 L

41652060415, TonAIS

416525960416. (IR

416525960417 =

Question Number : 35 Question Id : 41652915433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fr=1 o 5 Ty I 71w wfirs wgon 29 9@
i 8§ vE uE AR ?

Options :

41652560418 e

41652060419, T

416525960420 i

41652960421 T

Question Number : 36 Question Id : 41652915434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

7w waw faarr v = P frefatem
% 9 forar e frm 77
Options :

41652960422 . 2

41652960423 -

41852960424



41652960425 -

Question Number : 37 Question Id : 41652915435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fr=tefem § & 9 o Fomm w1 TEa S5
AR ® 7
Options :

4155zaRnzze,

415060257

41652960429

Question Number : 38 Question Id : 41652915436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SETE W Fiiew wioeem frafaim 4 @

fFm aneen gm feans fem w2
Options :
41&52980430 i

41652960431, 0 QLS

41652960432 b i

41852960433 . =

Question Number : 39 Question Id : 41652915437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T F = w e et i R e
L&

Options :

41652960434 I

41652360435



41652960436 TeTiai

41652960437 :

Question Number : 40 Question Id : 41652915438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TiEm A g = 4 Frefaten § 9
TR HI A H 9 A Al A #

Options :

41652960438 A

416525960433 -

41652960440 i

41852980441 #

Question Number : 41 Question Id : 41652915439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frefafem 5 9 fea foon & 999 s=r e
a1 v e A # 7

Options :

41652960442 S0t

41652960443 i

41652060444 1

41652360445,

Question Number : 42 Question Id : 41652915440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WA 3912 AR § T (Ebeo) Frafafmm
H 4 frn ws % fammm ¥ fen wmm W #7

Options :

41652960446 1

41652960447 8 (WY)



41652960448

41652960440, N1

Question Number : 43 Question Id : 41652915441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e 22 1 A= Fan w e e o f?
Options :

41852960450 300 Pt

41652980451 300 fasn

418520960452 230 TR

41652980453, 300 AL

Question Number : 44 Question Id : 41652915442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= # wen 1 fafun i w Pt d g
FAFMMITANE?
Options :

41652960454 °9

3

416529860455

41652960456

1 3

41652960457

Question Number : 45 Question Id : 41652915443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IO AW TA F WY UF e W Fem

fr=rfefem & @ feas Fm am 27
Options :
41652960458 OO o v

41652960459



41652960460, r

416852960461 " h T ;

Sub-Section Number: 2
Sub-Section Id: 416529498
Question Shuffling Allowed : Yes

Question Id : 41652915444 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
By b e L T ) o o) gl 5 L o I [ e

Dhirections : Which one of the answer Higures is the correct mirror image of the problem
figure with respectto X -X?

Sub questions

Question Number : 46 Question Id : 41652915445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-
| .
o .
—
\"'-\._ -
Options :
"'\.x ..__.
e |
._.-' ___.-"'H..\

Al ZEZHs B

-~
< -
Pl e
.-"'. -~
Rt
AlsEzal kS,
. "

A1 ZEZEsl g4

41sEpaa0ps, L el



Question Number : 47 Question Id : 41652915446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 48 Question Id : 41652915447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :

Al B2l 7
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Question Number : 49 Question Id : 41652915448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X

Options :
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Ala52dell 77

Question Number : 50 Question Id : 41652915449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Id : 41652915444 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
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Sub questions

Question Number : 46 Question Id : 41652915445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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A1 ZEZEsl g4

41z 2060 <EE,

Question Number : 47 Question Id : 41652915446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 48 Question Id : 41652915447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 49 Question Id : 41652915448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
X
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Options :
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Question Number : 50 Question Id : 41652915449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number: 3
Sub-Section Id: 416529499
Question Shuffling Allowed : Yes

Question Id : 41652915450 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
B 1o T Y T | ) gt ) i f s o

I Mrechions : Which one ol the answor l:iE"lIJI‘l' will L'I'I!I1'I|."l||."|,l' Ll Sequence ol the Lhroe
problem figunes ?

Sub questions

Question Number : 51 Question Id : 41652915451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 41652915452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 41652915453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 41652915454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 55 Question Id : 41652915455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

41 0meannasn e

ALEEZUENSC] .

Question Id : 41652915450 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
B L T T | o ) gt &' g f B [ e

ey : s snfemt d | % i sr$ta F 79 9w sl § 7 3 SEE (sequence) T
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Sub questions



Question Number : 51 Question Id : 41652915451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 41652915452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 41652915453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 41652915454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 55 Question Id : 41652915455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Sub-Section Number: 4
Sub-Section Id: 416529500
Question Shuffling Allowed : Yes

Question Id : 41652915456 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
B L T I T 1 o A g ) i f ) T e

Directions : The 3D ligure shows the view of an object Identify the correct front view in
the direction of the arrow, from amongst the answer [igures.

Sub questions

Question Number : 56 Question Id : 41652915457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 57 Question Id : 41652915458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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: MCQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 58 Question Id : 41652915459 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :

Al 5= L.

Bs0=11.
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Question Number : 59 Question Id : 41652915460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 41652915461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Id : 41652915456 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
B L T Y I Y o ) g ' i f ) o e

2w : 3D v sgfa & v o ¥ vF g W femmn o B A w0 few § ZmA w, 5EE
TRE 79 F T ARG | |/ v |
Sub questions

Question Number : 56 Question Id : 41652915457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
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Question Number : 57 Question Id : 41652915458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 58 Question Id : 41652915459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 59 Question Id : 41652915460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 60 Question Id : 41652915461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number: 5
Sub-Section Id: 416529501
Question Shuffling Allowed : Yes

Question Id : 41652915462 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (61 to 65)
By b e L T ) o o) gl 5 L o I [ e

Directions : One of the lollowing answer ligures is hidden in the problem ligure in the
same size and direction. Select the correct one.

Sub questions

Question Number : 61 Question Id : 41652915463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 62 Question Id : 41652915464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




Question Number : 63 Question Id : 41652915465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 41652915466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Number : 65 Question Id : 41652915467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Id : 41652915462 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (61 to 65)
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Sub questions

Question Number : 61 Question Id : 41652915463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

413E2HR03EL.

10NanNTER Y

Question Number : 62 Question Id : 41652915464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Number : 63 Question Id : 41652915465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4150 an0 0

Question Number : 64 Question Id : 41652915466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




Question Number : 65 Question Id : 41652915467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

41>t 20G0=91.

Sub-Section Number: 6
Sub-Section Id: 416529502
Question Shuffling Allowed : Yes

Question Id : 41652915468 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (66 to 70)
B 1 T T L o ) gt &' s f B o e

Directions : The 3D ligure shows the view of an objecl. Identify the correct top view
from amongst the answer figures.

Sub questions

Question Number : 66 Question Id : 41652915469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 67 Question Id : 41652915470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 68 Question Id : 41652915471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
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Question Number : 69 Question Id : 41652915472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 70 Question Id : 41652915473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Id : 41652915468 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (66 to 70)
By b e L T ) o o) gl 5 L o I [ e
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Sub questions



Question Number : 66 Question Id : 41652915469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 67 Question Id : 41652915470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 68 Question Id : 41652915471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 69 Question Id : 41652915472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 70 Question Id : 41652915473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Sub-Section Number: 7
Sub-Section Id: 416529503
Question Shuffling Allowed : Yes

Question Id : 41652915474 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (71 to 75)
By b e L T ) o o) gl 5 L o I [ e

Directions : The problem figure shows the lop view of an object. Identily the correct
clevation [rom amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 71 Question Id : 41652915475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 72 Question Id : 41652915476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 73 Question Id : 41652915477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Number : 74 Question Id : 41652915478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 75 Question Id : 41652915479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Id : 41652915474 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (71 to 75)
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Sub questions

41 5ERAR0 0

AlZEZI=E L.

Question Number : 71 Question Id : 41652915475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 72 Question Id : 41652915476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 73 Question Id : 41652915477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 74 Question Id : 41652915478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 75 Question Id : 41652915479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Sub-Section Number: 8
Sub-Section Id: 416529504
Question Shuffling Allowed : Yes

Question Id : 41652915480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
By b e L T ) o o) gl 5 L o I [ e

Directions : The 3D figure shows the view of an object. [dentify the correct side view in
the direction of the arrow, [rom amongsl the answer ligures.

Sub questions

Question Number : 76 Question Id : 41652915481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 77 Question Id : 41652915482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 78 Question Id : 41652915483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Options :
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Question Number : 79 Question Id : 41652915484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

s
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Question Number : 80 Question Id : 41652915485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Id : 41652915480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
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Sub questions

Question Number : 76 Question Id : 41652915481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

N

#
i
N
o

- e

=, T

o
A
o
., -

Options :



41zt 20G0o0 .

41552950554,

=5

4150 RAn0 00

Question Number : 77 Question Id : 41652915482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 78 Question Id : 41652915483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 79 Question Id : 41652915484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 80 Question Id : 41652915485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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CmAwAng
Section Id : 416529342
Section Number : 3
Section type : Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questions to be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529505
Question Shuffling Allowed : No

Question Number : 81 Question Id : 41652915486 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20

In the space provided in the answer sheet
for this question, draw margin lines o form
a frame. In this frame create an aesthetic
composition using only cvlinders and
cubes, These can be of any size and may
be placed separate, overlapping or within
each other. The idea is to produce an
aesthetic and visually exciting composition
of these shapes in the frame without
making it represent any realistic [orm like
house face etc. These shapes and the other
spaces should be filled with some colors of
vour choice so that the visual quality of the
composition is enhanced. 20 marks

Question Number : 81 Question Id : 41652915486 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20
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Question Number : 82 Question Id : 41652915487 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20

Copy the graphic image shown in the space

provided for the answer of this question.

Credit will be given to the exactness of your

answer. 20 marks

Question Number : 82 Question Id : 41652915487 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 20
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Sub-Section Number: 2
Sub-Section Id: 416529506
Question Shuffling Allowed : No

Question Number : 83 Question Id : 41652915488 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 30

In the space provided for the answer of this

question attempt any ONE of the

following : 30 marks

Design and draw anappropriate pattern for
a bed cover fora girls room. Color or shade
it to enhance its visual quality.

OR
Draw an imaginary picture of a
restaurant.

OR
Draw from imagination a picture of an
Indian leader,

Question Number : 83 Question Id : 41652915488 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 30
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